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4. Answer all questions.
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For each question from 1 to 28, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4) and shade your answer on the Optical Answer Sheetl.
(56 marks)

1 The diagram shows a rectangular metal frame with four drops of wax attached atP, Q,
Rand S.

C

Max heated the metal frame at one of the points, A, B, C or D. He then recorded the
time taken for each drop of wax to melt in the table as shown,

Position of the | Time taken for the drop of
drop of wax wax to melt (s)
P 95
5 e
R 19
S 40

At which point did Max apply the source of heat?

(1)
2
3)
(4)

oo w >



2

Two identical flasks, A and B, were connected to an air pump as shown in the diagram.
Flask B contained 200 cm?® of water. The set-up is air-tight.

plunger

air pump

450 cmd of air

50 om’® fmozoo
== < us e 200 om?d of water

o

The plunger of the air pump was pushed down, releasing 100 cm? of air into the flasks.

What is the final velume of air in each flask at the end of {he experiment?

Flask A {cm?) Flask B (cm®)
™) 350 150
) 350 250
(3) 450 150
@) 450 250

Object A was freely suspended in the air as shown in the diagram. A bar magnet was
brought close to object A,

AANANRRVRRMANNNRN R RN RRRUNRNY

’ ~~ bar magnet

After abserving the interaction between the bar magnet and object A, John concluded
that object A is a magnet.

object A

Which of the following best describes John's observation?
{1 Object A remained still.

{2) Object A swung left and right repeatedly.

{3) Object A moved towards the bar magnet.

{4) Obiect A moved away from the bar magnet.



Study the classification chart.

Living things
i
] |
Makes its own food Does not make its own food
1 i
1 | I !
Does not
Produces Does not Reproduce by reproduce by
fruits produce fruits spores spores
Mango X Y Turtle
Which of the following is correct for X and Y?
X Y
(1) fern mushroom
(2) moss fern
3) mushroom bacteria
(4) bacteria moss




5 Ryan cut an outer ring of the stem between positions P and Q of a plant as shown in the
diagram. The food-carrying tubes between positiens P and Q were removed while the
water-carrying tubes remained in the stem,

After a few days, he observed that one part of the stem was swollen.
Which one of the following answers is correct?

Swollen Part Reason
{1) P Water absorbed by the roots had travelled upwards and
| collected at P. .
{2) P Food made by the leaves was unable to travel downwards

and collected at P.

(3) Q Water absorbed by the roots was unable to travel upwards
and collected at Q. 4

4 Q Food made by the leaves had lravelled downwards and
collecled at Q.




(3 The table shows the breathing rates of people of different age groups when they are

at rest and during exercise,

Age group Breathing rate {units per minute)
{years old) Atrest During exsrcise
3t 8 28 39
71012 23 27
1310 21 19 21
21to 64 15 19
Above 65 12 15

From the information given above, what can be concluded about the breathing rate

of a person?
(1)  The breathing rate of a person increases with exercise.
(2) As aperson gets older, histher breathing rate increases.
{3) The breathing rate of a person is not affected by his/her age,
{4) The amount of exercise performed by a person affects his/her breathing rate.
1 A group of people stayed in a poorly ventilated room for a few hours. The following

graph shows the changes in the amount of gases in the room.

. Amount of gases (cm®)

A

T e e
T e e

v

Types of gases

Oxygen -——=—==--
Carbon dioxide

Nitrogen s
Water vapour  — = —

Which of the following graphs is most likely to be wrong?

1
(2)
3
4)

P

Q
R
S

Time




Sham was making comparisons between how a man and a fish breathe.

Man Fish

Air  containing oxygen enfers | Water containing dissolved oxygen
A | through the nose and gets into the | enters through the mouth and passes
lungs. over the gills.

Oxygen from the air gets into the | Oxygen from the air gels into the gills
B | lungs directly. directly.

Carbon dioxide passes into the | Dissolved carbon dioxide is carried
c |lungs and is removed when | away as water flows out from under the
breathed out, gill covers,

Which of the above comparisons are trug?

{1 A and B only
{2) A and C oniy
(3} B and C only
(4) A, Band C only

Bob did a cross-section of Leaf G of a land plant and observed it under a microscope.
He observed parts H as shown.

Which of the following statements are true about part H7

A They allow the exchange of gases to take place,

B They trap sunlight needed to make food for the plant,

C They are usually found on the lower part of leaves away from sunlight,
D They allow water vapour to escape from the plants.

(1) A and C only
{2) B and D only
(3) B, Cand D only
{4 A, C and D only



10 Blood samples were {aken from the blood vessels, P and Q, in a human circulatory system.

blood flowing back to blood flowing from the
the heart heart

blood vessel Q

blood vessel P

rest of body

Which graph correctly represents the amount of carbon dioxide in the blood vessels?

() Amount of ¢arbon dioxide @ Amount of carbon dioxide
P Q p Q
3 Amount of carbon dioxide 4} Amount of carbon dioxide

-~




11 Study the circuits.

12

S T u \)

In which of the circuits wilt the bulb light up?

N
2
3
(4)

S and V only
T and U only
8, Tand Vonly
T, U and V only

Study the electric circuit as shown.

What will happen to the brightness of bulb A if bulb B is removed and replaced with a

piece of wire?

(1)
(2)
3
(4)

Bulb A will become brighter.

Bulb A will become dimmer,

Bulb A will no longer light up.
Buib A will be as bright as before.



10

13 Ravi sets up the circuit as shown.

S2f I
L e

]

Red
S1

Blug ®
Blue
5/

Which switches {51, 82, SS’) should Ravi close so that only two blué bu!b§ and two red
bulbs are lighted up at the same time?

{1) S1and 52
{2) S1 and 83
(3) 82 and 83

{4) S1,82and 83



11

14  Keith sat up the following electrical circuits 1o find out if materials W, X, Y and Z are
conductors or insulators of electricity.

%

The table shows the resuits of his test.

Bulb Did the bulb light up?
A Yes
B No
C Yes
D No
E | | Yes‘

Which one of the foliowing comectly identifies the conductor{s) and insulator{s) of

electricity?
Conductors of electricity insulators of sloctricity
(0 z W, X, Y
(2) W, X Y.Z
(3) WX Y Z
{4) W, Z XY




12

15 Ravi wanted to find out if the arrangement of bulbs affects the brightness of the bulb.
Which two circuits should he use?

Circuit A Circuit B

O

—_»

Circuit C Circuit D

{1) AandB
(2) AandD
{3) CandB
(490 CandD

16  Which of the following are ways to conserve electricity?.

Switch to energy-saving light bulbs.
Turn off the electrical appliances when not in use.

Use the air conditioner instead of a fan on a cool day.

oo 2N T v B

Falling asleep with the TV switched on.

{1} AandBonly
{2) AandConly
{3} BandDonly
{4) A, CandDonly



17

18

13

The table shows the traits of Siti and her family members.

Length ?f Eyelids Earliobes

fingernails
Siti short double attached
Siti's father short single attached
Siti's mother short double detached
Sit's brother long single detached

Which one of the following statements is true about Siti's family?

(1)
2
(3
(4}

Siti inherited her short fingernails from both her parents.

Siti's brother inherited his detached earlobes from his father. |
Siti did not inherit any of the three traits from her mother.
Siti's brother inherited his single eyelid from his father.

Ali observed some leaf cells using a microscope. The cells are shown in the diagram.
The paris of the cells are labelled as A, B, C and D.

'''''''''

£ o N—— ST

T~

Which of the following parts of the cells have been correctly matched to their functions?

: . Traps light energy | Supports and gives
omaton e e | e Snte” | el gt
(1) B D A
(2) C B A
@) B c " b
4) c B D
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19 The diagram shows a fruit containing seeds.

seeds

Which one of the following statements is true about the seeds?

n The seeds are dispersed by splitting action.

{2) The seeds develop from the ovule of the flower.

{3) The seeds need only water to grow into a new plant.

{4) Only pollination needs to take place for the seeds to be produced.

20 Ali wants to find out if substance Y affects the amount of substance Z taken in by cell
A

liquid containing
substances Y and Z

- o -

cell A

_____

* *
[N I

EN

He prepared four set-ups as shown.

Set-up Number of | Amount of substance | Amount of substance
cell A Y in liquid {units) Z in liquid {units}
1 5] 20 50
2 8 25 50
3 6 30 50
Centrol 8 ? | ?

What amounts of substance Y and substance Z in the figuid should Ali add into the
controf set-up?

Amount of substance Y (units) | Amount of substance Z {units)

(1) 0 50
) 0 0
(3) 20 0
(4) 50 | 0




21

22

23

The female reproductive system in a human and a flower are shown in the diagrams.

16

Which part of the flower has a similar function as organ A?

(N
(2
3)
{4)

B

C
D
E

Which of the following sialements about human reproduction is not.correct?

N Only one sperm will fuse with an egg.

(2) The fertilised egg will develop in the ovary.

{3) Fertilisation occurs in the female reproductive system.

{4) The fertilised egg contains genetic information of both parents.
Which of the following correctly describes the transfer of pollen grains during
pollination?

{1) FromXtoY

(2) FromXto Z

(3) From ¥ to X

(4)

FromYtoZ



16

24 Oliver performed an experiment using two flowers, A and B, from the same plant. One
of the flowers is as shown.

He removed one part from flower A and one part from flower B. After some time, he
recorded which flower could form a fruit.

Flower A B
Presence of a fruit _ Yes _No

Which of the following correctly shows the part of each flower that has been removed?

Part removed
Flower A Flower B
m J L
(2) K M
{3) L K
{4) M J
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25 Sheila poured 100 ml of water into a beaker and placed it in a classroom. She
measured the volume of the water left in the beaker over a few hours and plotted her
results in the graph.

Volume of water left (mi)
F

100 F

—

Time ()
Which of the following changes did Sheila make at point F of the graph?
(1) She placed ice into the beaker.

(2) She covered the beaker with a lid.

(3) She poured hot water into the beaker,

{4) She switched on the fans in the classroom.

26 The table below shows the states of four different substances, W, X, Y and Z, at

different temperatures. '
Substance 0C 50°C 100°C
W Liguid Gas (Sas
X Solid Liquid Liquid
Y Salid Liquid Gas
2 Solid Solid Liquid

Which of the following statements can be concluded?
(1)  Zis asolid at 60°C.

(2} The boiling point of Wis 50°C.

(3) X has a lower freezing peint than Z.

4} W has a higher boiling point than substance Y.



27

28

18

The following diagram shows the water cycle.

Clouds
/ \

Waier vapour Rain

Water on Earth

Change of state of water occurs at stage{s)

{1 B only
{2) A and D only
{3) B and C only
{4) D only

The diagram shows a mini water cycle set-up.

ice cube

-;\m [ _F—dih

water droplets

hot water

hot plate

Which of the following is Jikely to be observed when more ice cubes are placed in the
dish?

4 The ice will melt more quickly.

(2 All the water droplets disappear.

(3 Temperature of the hot water will increase.
{4) More water droplets will form under the dish.

{Go on to Bookiet B)
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For questions 29 to 41, write your answers in this booklet,
The number of marks available is shown in brackets [ ] at the end of each question or part question.
{44 marks)

29 The graph shows how the length of Ron's shadow changes over a period of time as he walks in
a straight line near a street iamp at night.

AT W M e T A R e e amra emd RS Yo RWICCWAN fae ¥ TINELEANER L oh - % M v s

tength of shadow {m)

&

3%

¥

2 time (s)

{a) Explain how shadows are formed. [1]

{b) Is Ron walking towards or away from the lamp during the period X shown in the graph?
Give a reason for your answer. ]

{c} At what time was Ron nearest to the street lamp? Explain your answer. (1]

[Go on 1o the nexi page

. Score




30 Sam conducted the following experiment as shown in the diagram. He hung a 10 g load from
String A.
CELLLLI LIS LI L ETIILEIL s

Sting A

10g Load

He increased the mass of the load until String A broke. He then repeated the experiment with
strings, B and C. The maximum mass of the load that the strings could hold before breaking was

recorded in the table.

| String A B c
Maximum mass of load
before string broke (g) 40 70 30

{a) Based on the above information, which property of the materialis Sam testing?  [1}

{b) Sam-conducted another experiment by rearranging the strings and loads as shownin
the diagram.

1——— String B

10g

String A

30g

String C

20g

Based on the results above, which string, A, B or C, would break? Explain your
answer. {21

{Go on to the next page)

ser /]




31 Nate has a tractor with an attached toy cart as shown.

magnet

handle

Object X N
_+ direction of
7 Nate's pull

AR
/ Object X \

toy cart tractor

The tractor has a magnet at each end. The cart also has an object, X, attached at each end.
When Nate pulls the tractor, the cart moves along with it.

{a)  When Nate pulls the tractor, the toy cart moves along with the tractor. Explain why. {2]

{b}  After dropping the tractor many times, Nate observed that the toy cart no longer moved
when he pulied the tractor. Explain why this was so. i1

{Go on to the next page)

Score




32 The diagram shows the human digestive system,

{a)  Which of the above pari(s), A, B, C, D or E, produce digestive juices? 11

{b)  State the function of part E. 1M

Eggs of organism Z enter the human body when undercocked food is eaten.
The eggs hatch and grow inlo adults which are found attached to part D. The diagram shows
part D infected with organism Z. Z does not feed directly on the food present in part D.

organism Z

{c) Explain why a person having organism Z in his body will get less digested food.  [2]

{Go on to the next page)

Score




33 The bar graph shows the amount of blocd from the heart that will flow to the various parts of the
body when a person is at rest and running.

Amount of blood
flowing from heart
to body parts 4

100 4
80T

Key:

80 T | Atrest
70 b : ‘

601 | - Running
50 -~ ﬁ

40+
30 -

20 +
10 4

Small Leg
intestine muscles

{a) Explain why the blood flow to the muscies is higher when a person is running than
when he is resting. {2}

{b)  Alfred decided to exercise immediately after a heavy meal. Based on the graph shown
above, explain why he should not exercise after eating. {1

(Go on to the next page)

. Score 3




34 Kevin designs an automatic food dispenser as shown to help him feed his dog. When the food
tray is empty, the iron rod interacts with object X. This causes X to slide away so that food will
drop from the dispenser {o fill the food tray.

food dispenser

23533528
P0-O -G
il
contact 18 -
points 0,‘ doa food
og fo
ironrod We d
. o
metal A
contact food tray
spring

When the food tray is filled, the focd tray moves down and object X moves back to close the
opening, so food will stop dropping into the tray as shown.

{a) Based on the observation above, explain why object X is able to slide away to allow
food to drop into the tray when it is empty. (2}

{b} Using the same food tray and springs, what change can Kevin make to the set-up so
that the food tray will be filled siower? (11

(Go on to the next page)

Score

S—




35 In an experiment, four similar cells were placed separately into each set-up, A, B, C and D,
containing different liquids. The observations were recorded in the table below.

Sst-Up Liquids Observations

A water The cell swelled.

B (yell ol‘\:fg(;‘g gﬁ"é‘i ater) The cell swelled and tumed yellow.

' c green liquid The cell swelled and no change in the

{green dye and water) colour of the cell.
D mixture of yellow and green ?
liquids

(a)  Which part of the cell in set-up B allows it to swell and turn yellow? (1]
{b)  What would the observations of the cell in set-up D be? Give a reason. 2

36 The diagram below shows process C in human reproduction.

Process C
(a) Name the organs that praduce celis D and E. i1
{i) Cell D:
(i) Cell £:
{b} Name Process C and descrbe the process. 1]

{Go on to the next page)

.Score | 5




37 Observe flower A,
petal

: anther
i )/ dangling out

feathery
stigma

{a){(i) State the method of pollination for flower A, ' [1]

{ii) Based on the characteristics of the stigma and anther shown, give a reason for the
method of poltination given in (a)(i). 11

{b}  The maps below show the locations of two {ypes of plants, B and C, on an island from
the year 2019 to 2022,

in 2019

The young plants of B are observed to be healthier than those of C.

Based on the maps, explain why the young plants of B are healthier. [2]

(Go on to the next page)

Score




10

38 Henry observed the seeds of fruit K.

sweet, juicy flash

~small, black seeds that
cannot be digested

fruit K

(a)  Dascribe how the characteristics of fruit K helps in its dispersal. (1]

(b} After a few days, Henry observed that the seed undergoes Process Z.

»——T—{

Process Z

{i) What is Process 27 [1]

{ii) State the conditions needed for process Z to take place. 1}

{Go on to the next page)



{c)

1

Henry wants to investigate if the presence of light will affect process Z. He only has the
following items shown below which he may use some or all of tham.

ltem

Mumber

red bean seed 10

wet cotton wool

table lamp

He placed two identical beakers in a dark room for his investigation.

in the table below, state the number of each item he should use for each set-up. [2]

Hem

Number

Experimental set-up

red bean seed

wet cotton wool

table lamp

Control set-up

red bean seed

wet cotton wool

table lamp

{Go on to the next page}

Score
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39 The graph shows the temperature of a farm across several hours.

Temperature {°C)

A

- - . - - + Time
4 am. Gam, 8 am. 1Dam.  12pm

Jane observed that soma white solids could be seen on the surface of the leaves at about 8§ a.m.

white solids

{a) _ Explainhow the white solid formed. ) [2]. .

{b) When Jane returned to observe the leaves at 10 a.m., the white solids could no longes
be seen. Explain why. 1]

{c) From the graph, what is the temperature of the farm at 12 p.m.? 1]

{Go on to the next page)

,; Score . ‘ 4
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40 Xueli soaked four identical shirts, W, X, ¥ and Z, in the same amount of water before hanging
them to dry under different conditions. She then measured and recorded the mass of the shirts

after 6 hours.

. o MRass of shirt after
Shirt Conditions 6 hours [g)
w unfolded and bung in the sun 100
X folded in half and hung in the sun 150
Y folded in half and hung in the shade 200
7 folded to one-third its actual size and 300
hung in the shade

{a) Xueli compared the mass of shirts W and X after 6 hours.

Explain the difference in their masses.

2]

{b) Xueli wanted to investigate the effects of temperature on the mass of the shirts.
Which two shirts should she use? Explain your answer,

[

Score
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41 After a long and hot day of hiking, a group of students set up the system below to collect drinkable
water, After a few hours, some water is collected in the container.

straw
rock
stone W
plastic sheet plants
container
muddy water

(a) Draw in the above diagram a possible observation the students can make at the plastic

sheet. 1]
{b) Explain how drinkable water is cotlected in the container. 2]
{c) Suggest how the presence of plants affect the amount of water collected. 1

- End of Beoklet B -

Score 74




Name : { } Class: P5
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No Ans Mo Ans No Ans No Ans Mo Ans No Ans
1 4 8 1 11 2 16 1 29 3 28 3
2z | 1 7 |3 [z | 1 ta7 | a4 |2 | z | 27 2
3 4 8 2 13 2 18 3 23 3 28 4
VI s | 4 | 14| 3 | 1| 2 [ 22 4
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QN ACCEPTABLE RESPONSES MARKS
28a | When ight is ___ blocked by an object, a shadow is formed. 1
29b | Heiswalking _towards the lamp, as the length of his shadow _decreases . 1
298¢ | 8 seconds. His shadow is __shortest _ when he is nearest to the streetlamp i
like at 8 seconds.
3Da | Strength of the material / how __strong ___the material is 1

30b | String A

The total mass of load whiob String A was holding at 50g exceeded its

2
maximum load of 40g.
31a | The n_xagnet {on the tractor) ___ atiract ,(55}7ect X, a magnetic material/ 2
magnel, so the cart moves along when Nate pulls the traclor.
31b | The magnet has lostits __magnetisms __/ magnetic force.
OR The magnet has become weaker. 1
32a |A,C,D - 1
32b | To absorbfremove _waier  (and minerals) from the __undigested  food. 1

32c | When the digested food is __absorbed by the intestine, some of it will get | 2
eaten by Z
|



https://freetestpaper.com/

33a

The heart pumps blood __faster _ to ensure that_more digested food and

oxygen is transported to the muscles 50 that more _energy can be released

for respiration/ the muscles to work.

33b

When exercising, __less _ blood flowing to the small intestine___ causes
less digested food to be absorbed.

OR

When exercising, __more __ blood will flow to the muscle _instead of the
stomach and small intestine, 0 lesser digested food is absorbed.

The metal contacl touches the contact points, ___Ciosing __ the circuit so
current flows and _magnetises _the iron rod.

Like_ poles of X and elecromagnet face each other, causing them to
repel .

X slides away, allowing food to drop info the tray.

b

Kevin should use less _batteries _ in the sef-up. OR

He should have less __coils__around the iron rod.

a5a

Cell membrane

35b

The cell will_swell_and tumn _ yellow

The cell membrane allowed _only _ the yeliow dye and water to enter
the cell.

(i) Ovary / ovanies
(ii) Testes / testis

36b

Ferfiisation. The male and female reproductive cells will _fuse together.

37a

@ By __wind

(i) The anther is _hanging out so that the pofiens can be __blown _ sway
by the wind easily. OR




Thestigmais __ feathery  sothatitcan _caplure the polien grains blown
by the wind.

37b | Plant B are healthier as the seeds were dispersed further  away from
each other, o there is less comgeﬁﬁon for sunlight, water, mineral salts
and space [at least 3 factors must be mentioned].
38a | The sweebfuicy _flesh  athacted animals to eat the fruit and the seeds
would then be passed out in their __dropping  be spit out.
38b | {i) Germination
{ity Water, oxygen / air and warmth / suitable temperature
38c Hem Number
red bean
5
seed
Experimental
wel cotton
set-up 1 {or 2)
wool
table lamp | 1{or 2)
red bean
5
seed
Control
wet cotton 1or 2
set-up wool (or 2)
table lamp o
3%a | Water __ vapour in the surrounding air __lost  heat to the _ colder
surface of the leaves and ___condensed  to form water droplets. The water
droplets then lost heat to the colder leaves and _freeze to form ice/white solid.
39b | The white solid __gained  heat from the warmer surrounding air and
melied  to form water.
39 |6°C




40a

X had a smaller __exposed _surface area thanW, causing _less  water
fo evaporate / a slower rate of evaporation.

40k

She should use X and Y. The only changed variable is the location, which are
at different _temperatures

41a

The tiny water droplets are formed on the __underside  of the plastic sheet.

. X
R

41b

The muddy water _gdains _ heat from the warmer surroundings and
evaporates into water vapour. The waler vapour touches the cooler
plastic sheet and __loses _ heat, condensing into water droplets. The water
droplets move towards the centre of the plastic sheet and falldrop into the
container.

41c

Plants oive off water vapour. More water vapour results in more

condensation _so more water droplets are formed and collected.




